43.

45.

- 46.

47.
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ot X w1 e For! GhINTe -9 91 I8 Gfes ?
Choose the box that is similar to the box formed from the given sheet of paper X).

g @9@@

(x} ) To{1) 2> ()]
A. 2and?3 only B. 1,3and4only C. 2and4only D. 1and4only
T X w1y et wREn e g @ 2

Select the figure which satisfies the same conditions of placement of the dots as in Figure-X.

@ ANHFH S

, £y (1) (2) 2 43) (a3
1 B. 2 -3 D. 4
mmmmmmmmmmu

' Group the given figures into three classes usmg each f' igure only once,

SR

3

4 6
LoNEaY.
A 1,47:258:369 : B. 147:259:36.7
.C. 1,34;258:679 .D. 123;456:789
WRIIEE 1 4= s firend Frear sugs s wHe)
a.  Ju9 1. %89
b. ST SRR 2. afdm
c. T wANSTd S 3. AR vy
d. FHIER 4. ShfEs wiHen aETrH :
A. as bg ¢y d4 B2 a3 h4 C> d, . C. aj; bg Ca j:, 15 ol az b4 Cy dg
TR ITEE 1 7= S fier s s s wia: :
- gl EN .
a. SR . 02 e I YUE-EeYa 9SF TUS
b g =ed ‘ L a2 GTZ
c. TW 3. UNESCO %! 98H Hiferd
d.  TgeR T5T ST 4. §RUE T HAIEF T

>
&
o
0O
ey
jval
n
fo)

3

5

c
@]

a; by ¢y d D. a;b.cid;
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51.

52.

53:
54.
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56.
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SAFTA T STFARA T IR TEFA R 2

Al U B. Ra C. TR D. ufewE
.w(@'n'aqg I ﬁammmmww@m.

el g I

a. Ifefafest 1. forgeT

b. S A 2. TR

c. TREE R 3. S fagr

d. = wife _ 4. R¥/IEE

- A) agbscrd < B') a3b4c-;d] C) asbscd; D) as;bs;cids
el . 4 ;

a) e Gae amﬂﬁmﬂ@mmqu%.m, ............ A

b) STl AR AT GEHR FATH - eoeoeerencnnnne = fafes |

B) &RATE YWE Gold Man
D) favasardt 3w /Blue Planet

A) Sierarg REdd /Global 500
C) favgeardt Iw@ /Gold Man

" Idon't really know how to ...... the problem.

A. tackle B. cope : C. draw D. erase

The English schemed to continue their rule in India by playing off one community
other.

A. before B. upon C. against D. with

The passengers were afraid, but the captain ...... them that there was no danger.

A. - promised B. assured C. - advised . D. counselled
The family gave father a gold watch on the ...... of his fiftieth birthday.

A. time B: event C. occasion D. celebration
TR e :

&) AT ARRYA! R - N I MeleH TS |

3 7 "R R faf ey sfiol safe e

3) TN dfe Tgsl fFTR T meRy SOl ARSI R |

A, (3 EE, (3).77T, (3) eI B. (37 IeAd, (3) e, (3) WEl
C. (3, 7T (M) W, () wE D. (&) @, (31) Terq,(3) T
e T EFITRE = e fror v e s

TEF : ik

&) Empire City 5. wzfse

&) Forbidden City - MW

%) City of the seven hills 3. S

%) White City Y. e

A WM RN B
C. M, am,{/R 'D. 3R, AW, R/, N
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w@mmmma&mmmmmﬁmm
A. i, YIRG, SR, TS, ufsam B. =4, wRa, 3, nfeam, w=mfam
C. =M, vRa, siiftw, wenfm, sifse D. =, wra, 3l wSmfaa, arafa

Torvart wavT 3o e A @) 2

A. . Eisriesénwélt Austria “B. Kamchatka's ice cave, Russia
C. Gomer Glacier, Switzerland - - D. Booming Ice Chasm, Canada
R TR TR T TG e 1 U8 2

A FE . B. @ C. wam D. faan

o X 1 Sewu oo gheeae 43,3 91 Y we g e we Sl TR 2
Find out which of the ﬁguros (1), (2), (3) and (4) can be formed from the pieces given in

figure (X). _ j
= .
oY P
x) : R Ly e
A 1 , B2 : G 3 D." 4
e e ol A TR - 9

Select a suitable figure from the four altérnatives that would complete the figure matrix.

Tl
il .
@@ @ @
As4 2 NS D. 4

fax ﬁmmmmm

Choose the correct mirror 1mage of the given figure (X) from amongst the four alternatives.

3’? ?Z&?Q Ze
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64.
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wea g et St farea fegwnt g7 Fosret Frean fors o amiegeR s

Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures.

Problem Figures: ‘ Answer Figures: | Q
O Al? ‘[ ?xgl ADB-AE Alx  OA =
? l ? ? 2l =10
X x =|x =lo x|7Alx 2
(A) B © M @® m @ @ @ 6
Al ¢ B. 2 ' C. 3 D. 4

X AT AT R ? '

Choose the correct water image of the given figure (X) from amongst the four alternatives.

@ 0 O W

o (1 2) (3) )

A 1 "B. 2 . C. 3 D. 4

o Z Fr TEET s e faees sty :

Choose a figure which would most closely resemble the unfolded form: of Figure (Z).

) X B B4

(1) (2} (3} {4)
A 1 ~ B. D 4

ﬁmmé‘lmmﬁmw mﬁﬁmmmmﬁaﬁa@a
A, i, 3hem, wonfae, fedE, ageave B, she, =i, fdaam, sremfaE, anes
C. “q‘hg@l%ﬁqmmvgfwgﬁgm D. sfem, =i, At fimam, arears

a. IR H 1; v&a

b. STETUREX TH 2. i@

c. Haael T 3. Tl

d. YUSq TH 4., TE -

A. a2, b-1,c4,d- 3 B. a-2,b-1,¢-3,d4

C. a4,b-1,c-2,d-3 D. a4,b-2 ¢3,d1
m@qmwmmm ? "

A. November 17 B. October 18 C. Octoberl7 D. October 19
T H NG e S 2 U ISger |

(&) ﬁmm@mmwmmaﬁhmw afes |
(@) TS IH T 9%%% SRa g ifas 9|

) mﬁmm@vﬁﬁmwmm

S8 R T S F I N JO O R .. .. Nl <
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In the followmg questlons four alternatives are given for the idiom italicised and underlined
in the sentence. Choose the alternative which best expresses the meaning of idiom.

He passed htmselt off as a nob]e man.

A.  Was regarded as © B. Pretended to be

C.. Was thought to be § 23 . D. Waslooked upon

Words inscribed-on tomb is called ........... seses _ -

A. Epitome B. Epistle ‘ C. Epllogue D. Epitaph

In the following questions choose the word which is the exact similar of the given words.
INDICT

A. Condemn B. Reprimand C.  Accuse D. Allege’
ﬁwm—dﬁagmﬁrﬁwmﬁﬁmﬁa@@m
E'F wEE
) TuferfdE amr 9. fomE
%) A g 3. - SUw & 9 12
3 Stafigam R
A IR, IR N, B. Y, MR, N
C. M, mRH ‘ D. 3R, IR, 3, H
?owahuﬁngmmmmmzmmﬁmmmﬁmw?
A. Yozu B. Youg S CoRYEy D. &¥.3%
kil T
&) Y e q. @ 5
) = YT HoweE 2. HRE .
3) TR SR Gl R
3 A R VY R Y.  HHEEQ i o
' ‘ K. YT
A, R ) c‘. iy i\i HS H
B. 3 & 3 g A
C. 1, v 3 e
_D"'h?f.ﬂ. 3:. :,7—.:\; x)
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mmmtmm A, B- C,D TR =R S e TR 9
A school has four sections A, B, C, D of Class IX students.
mmmzmmmmmmmma-

The results of half yearly and annual examinations are shown in the table given below.

No. of Students
Result : ;
Section A'| Section B | Section C| Section D
Students failed in both Exams 28 23 17 o, 9
Students failed in half-yearly but passed in Annual Exams 14 12 8 13
Students passed in half-yearly but failed in Annual Exams 6 - 17 9 - 15
Students passed in both Exams 64 55 - 46 76
76. gmmmmﬁmemvﬁmmmaﬁ :
TAHITE F TR T D ?
If the number of students passing an examination be considered a criteria for comparision of
difficulty level of two examinations, which of the following statements is true in this context?
A. - srefanfie uftemee 9% =fed fT 1 Half yearly examinations were more difficult.
B. @i uftames 9t wfew 1T 1 Annual examinations were more difficult.
C. 3T TR e W @y §6E o= | Both the examinations had almost the same
) difficulty level.
D. T uRemem HiSAE a1 I g T ﬁa | The two examinations cannot be compared
for difficulty level.
77. S Terenera! HEn & S i e 5 2
How many students are there in Class IX in the school?
A. 336 _ B. 189 C. 335 D. 430
78. g8 WeY R Wb IR G Seae S|l wiove AfHwan 2
Which section has the maximum pass percentage in at least one of the two examinations?
A. Section A B. Section B C. SectionC D. SectionD
79. A YA AR TREERT ST R AHIH T 2 _
Which section has the maximum success rate in annual examination? .
A. Section A B. Section B C. SectionC D. SectionD
80. A YT AYEH TR FFA RGTH D 2
Which section has the minimum failure rate in half yearly examination? 5,
A. section A B. section B C. sectionC D. sectionD
81. abca_bcaab_ca_bbc_a !
A. ccaa B. bbaa - C. abac D. abba
$2.  wsa wu QF SETE dlva At Yo% Freum o, St e sE Sia i YHaY fraem 31

T4 oreee! Sl Ao I TSR -

The average weight of 16 boys in a class is 50.25 kg and that ‘of the remaining 8 boys is 45.15
kg. Find the average weights of all the boys in the class.

A. 4755kg B. 48kg C. 4855kg D. 49.25kg
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85.

86.

87.

89.

91.
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mi;zmwﬁﬂw@iwﬁit? ; ;
A. == B. fdm c. 7™ D. et
- R e - :

) Tl it g it e frere fgfaa fag

3m) Mmmé@%ﬁmmmtmﬁﬁmﬁamwwm%m
TR W3 gear Heah! o |

3 sifersrn 9y ufs R wasmn Sume! ST T 3

A, (@) EE, (3) T, (3) TR B. (31 &, (3M) *Terd, (3) e

C. GuwEnw, EwW D. (30 ®&, (3M) T, (3) e
FEHET TR ORI RreR weier w8l §89 ? :

A, SAgIE B. WH C. ISR D. waifemEr

In the following questions choose the word which is the exact OPPOSITE of the given words.
FICKLE

A. Courageous B. Sincere C. Steadfast’ D. Humble

FOURE! STTHIT Tex Wi Tt qe Rl mnﬁw@amﬁnﬂm
BRI TR S ? e ’ :
A. 9%98,300% - B. 95 S, j00Y C. 93 98, j00% D. 393, j00Y .
RS JA T . I¢% Il Fem S THel il ?

A. 7RI, 08¥ TR ¥ B. g FTTarEl SGEI, 09Y, TR ¥
C. =gV I SHEET, 09Y IR ¥ D. i@, 0¥ ER ¥

it wiera wdiewa, 00K | HAH WIF TS 7 Hal HUE ?

‘A, SYEH HIA B. $eMEed - C. Ufam g D. gfa & =
o g g < e trewes s Sire e o s Rae

%. fowEt 3. TS faame

. . 95 TR . Teawr rfyeid

. aferRE H . wgw

", qafee ¥. AR

A -3, T¥, T}, 9 B. &Y, T-3,7-], ¥

C. &-3,@-R, T-¥,519 D. ®-9,8-Y, -, ¥-3

T VAR B W S TeTafe g vt 2 s :

Today is Monday. After 61 days, it will be:-

A. Wednesday B. Saturday e Tuesday D. Thursday

e sl St gt Hrrens f0 Y U 3 00 I SR TEAes i whal vl 2

If a quarter kg of potato costs 60 paise, how many paise will 200 gm cost?
A. 48 paise B. 54 paise C. 56 paise : D. 72 paise



93.

04,
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9.

97.

98.
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wT mw’fmwﬁw y firex © v ot xogx mmﬁ%mmm 35.0% i
AT B U SR SEE i el 2

A flagstaff 17.5 m high casts a shadow of length 40 25 m. The height of the building, whlch
casts a shadow of length 28.75 m under similar conditions will be: 4
A.. 10m B. 125m C. 175m D. 21.25m
m@mmmmmmmmmwm o e
FHFITAS ?

A.  FHar, ST, T, 96, g8 " B. haR, o, HeS, AT, AR
C. war, OFIS, Taera, fomy, g D. AR, e, famgR, g, 9w
TP SIS HA e ® 2 :

S e Bt e ifEeT YRt e TR

D. STheleh! SMHURHT TN &l TRAMHL....... ﬁmmnmrﬁam i
WWWWM?WMMWWWW@&?

A, Roqe iR v : B, Roje ARy ¢

C. 0% AR & ‘ D. 099 A
Nomﬁﬁzgétwggﬁmmmmﬁ?

The angle between the mmute hand and the hour hand of a clock when the time is 4. 20, is:

A 0 . 10° £ D. 20°
@maommwzaxmmwﬁgmmmmﬁmm
T ThisoRTT 90 Wi T TR §55.%0 T Wi ity fSoh! T 999 ?

In what ratio must a grocer mix two varieties of tea worth Rs. 60 a kg and Rs. 65 a kg so that
by selling the mixture at Rs. 68.20 a kg he may gain 10%?
A, 3:2 B. -3:4 C. 3:5 D. 4:5

o TR :

%.- Blue moon: ﬁaﬁ&f@%wmm :

@. Super moon : Y2HISIE TH] TR ANTH WCH! &0

. Blood moon: SEHHI L] BTE! T TGV TN F=51 Tl HTH! &0
A

C.

FEINHA3H ' B. HIGHHAI®

@ 17 HF 31 D. FINAEIS
ﬁmzwﬁmﬁgﬁmmmﬁmmfrm#@mmv
A, R0OY TREAG B. 004 AEA9IL C. 0L HREAR0 D. R0SY HREA W
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Q.No |Answer |Explanation

Key : :
1. A 2a  [3Dp [ac [sA. Jea [1D [8A ‘Jo.c |10.B |[11B
12 C. : As Similarly
824 h =28
c gy o84y
FEaLs )y gty
6~ Q—ibw
18 - hex As, 123 —13°
As, 235 — 25°
) The middle digit of first term becomes power to the next term.
14 B. (16 + 13) = (14 + 15)

and (28 + 12) = (10 +30)
Therefore (29 + 16) = (15 + 30).

15 C. (30-24)x8=48
and (23 -12) x 8 =88
Therefore, (92 - 86) x 8 =48.

16 |A 17D [18A [19B [20a [21.A [22D [23B [24D [254 264
217. C _ :
28 O Hospital consists of nurse and patient but nurse and patient are of two different nature.
29 A. The figure gets divided into eight equal parts.
30" |A. The figure may be labelled as shown.
D 3
AN
e AN
: AT e
A Triangles:
The 31mplest triangles are KIN, KJO, CNB, OEF, JIL, JIM, BLA and MFG i.e. 8 in
number.
The triangles composed of two components each are CDJ, EDJ, NKO, JLM, JAH and
JGH i.e. 6 in number. -
’ The man01es composed of three components each are BKI, FKI, C‘JA' and EJG ie. 4
in number
The triangles composed of four components each are CDE and AJ G i.e. 2 in number.
o | The only triangle composed of six components is BKF.
Lo Thus, there are 8 + 6 +4 + 2 + 1 =21 tnanOIes in the given figure.

Lo Parallelograms :
I_; The sxmplest pa:alleloorams are NJLB and JOFM ie.2in number
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* |The parallelograms composed of two components each are CDKB, DEFK, BIHA and

IFGH i.e.4 in number.

The parallelograms composed of three components each are BKJA, KFGJ, CJIB and
JEFI i.e.4 in number.

There is only one parallelogram i.e. BEGA composed of four components.

The parallelograms composed of five components each are CDJA, DEGJ, CJHA and
JEGH i.e:4 in number:

The only parallelogram composed of six components is CEFB.
The only parallelogram composed of ten components is CEGA.
Thus, there are 2 +4 +4 + 1 + 4+ 1 + 1 = 17 parallelograms in the given figure.

(Here note that the squares and rectangles are also counted amongst the
parallelograms).

31 C. All other figures can be rotated into each other.

32 |b 33B [34B [35.B [36.A[37B [38C [30.B [40.a [41.B

42 . |B. Since the total number of dots on oppdsite faces is always 7, therefore, 1 dot appears
opposite 6 dots, 2 dots appear opposite 5 dots and 3 dots appear opposite 4 dots.

43 B. The fig. (X) is similar to the Form V. Se, when the sheet in fig. (X) is folded to form a |-
cube, then the face bearing a dot lies opposite to one of the shaded faces. Therefore,
the cube shown in fig. (2) which has both the shaded faces adjacent to the face bearing
the dot, cannot be formed. ‘Hence, the cubes shown in ﬁoures (1), (2) and (4) can be

, formed. ; :

44 D. In fig. (X), one of the.dots lies in the region common to the circle and the rectangle
only, another dot lies in the region common to the circle, the square and the rectangle
only-and the third dot lies in the region common to the circle, the square and the
triangle only. In each of the figures (1) and (3) there is no region common to the
circle, the square and the rectangle only and in fig. (2), there is no region common to
the circle, the square and the triangle only. Only, fig. (4) consists of all the three types

; of regions.
145 A. 1,4, 7 are all (t w o-dimensional) quadrilaterals.
2,5, 8 are all three-dimensional figures. : ‘
3, 6, 9 are all (two-dimensional) triangles. _

46 |D 474 |48.A |49.c [s0.c [51.A [s2.c [53B [s4c [s5D [s6B

572 & 58.A |[59.D

60 |A. F '

61 A. In-each row, there are three types of arrows - an arrow with a single head and without
any base, an arrow with double head having a circle at its base, an arrow with triple
head having a rectangle at its base. Also, in each row, the arrows point in three
directions - upwards, downwards and towards the right. )

62 C; ’

63 B. In each step, the elements move in the sequence.

64 |C. '
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92 -

65 B. : 5 _ : N
66 |A. 67.C “[6s.c |69.c |70B [71.D [712.c [73D [14B [75cC
76 C. Number of students who passed half-yearly exams in the school
= (Number of students passed in half-yearly but failed in annual exams)
+ (Number of studénts passed in both exams)
=(6+17+9+15)+ (64 +55 +46+76)
=288. : »
Also, Number of studerits who passed annual exams in the school
= (Number of students failed in half-yearly but passed in annual exams)
+ (Number of students passed in both exams) .
=(14+ 12+ 8 +13) + (64 + 55 + 46 + 76) T : 3
=288. Sk _
| Since, the number of students passed in half-yearly = the number of students passed in |-
annual exams. Therefore, it can be inferred that both the examinations had almost the |
same difficulty level. - ~
Thus Statements (a),(b) and (d) are false and Statement (c) is true ‘
77 D. Since the classification- of the students on the basis of their results-and sectxons form
: independent groups, so the total number of students in the class:
=28 +23+17+27 + 14+12+8+13+6+17+9+15+64+55+46+76)
=430.
78 D. Pass pcrcentaoes in at least one of the two examinations for dlfferent secuons are:
Ror Seationk _(2§T12i23424) x 100]% = [1812 x 100] %=75%
For Section B _(23(121*21;’1“7525) 100]% = [1 P 100] %=78.5%
For Section C _(17(?;——951—6% x 100}% = [go x 100] % =78.75%
For Section D _(27(13 1 1*;16)76) x 100]% = Bg‘l‘ x 100] % =79.39%
Clearly, the pass percentage is maximum for Section D.
79 |A. '
80 D.
81 C The series is abc/aabc/aabbc/aabbec/a.
82 C s ; Rl :
83 |a 84.C |8sc [s6C [s87.c [88.c [89.B  [90.A :
91 8. Each day of the week is repeated after 7 days.
So, after 63 days, it will be Monday. '
. After 61 days, it will be Saturday.
A. Let the required weight be x kg.

Less weight, Less cost (Direct Proportion)
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L. 250:200:: 60 : x < 250 x x = (200 x 60)
(200 x 60 ;
A= Tash
= x=48..
93 |B. |Letthe height of the building x metres.
Less lengthy shadow, Less in the height (Direct Proportion)
5 4025:2875:175:x & 4025xx=28.75x175
_2875x17.5 '
= 4025
== 12.5: *
o4 [B - JosA  |96B
97 |B. 13 360 13)\°
Angle traced by hour hand in3" hrs--(12 3) =130° .
Angle traced by min. hand in 20 min. = (_6_0_ X 20) = 120°
. . Required angle = (130 - 120)° = 10°.
98 |A. 99.A [100.D
o  ferd s vl - %aﬁi:s'ﬁsﬁmaﬁ
o i v (fefem) mmzmmﬁfwmmmmmm
i, Ssl s, ﬁmﬁmgﬁ*ﬁﬁwﬁqﬁwmﬁMQ%ﬁam%WQ
mmmmmmamﬁmmm t{gmsmﬁmuwa@ el 3T,
SRl et g0 e )
0 TaTE: @wmtmmmm@mwmm
o @,mma@mmﬁm@ﬁrm : YT T SSHFHT TS HAIf |
o wRaE: aﬁm@qﬁmmmg&g@tmﬁéﬁwmmaﬁ%ﬁm :
ST ST S | ST TR, 39 6N T T fesa g, favergst fawres |
Tifew =11 :
o gaAaE: ﬁmwaﬁémmwnﬁﬁaﬁ
O e ee : ST SRS Sl T SR arregn a4 ﬁzcamﬁﬁam T A
TEEI AT TRITR 37 WiEd S, %maafammuﬁrw mﬁaﬁmmmm
BT HETTT TR |
0 Purple Line or Ceasefire Line: §7 1%%° WWTWW o 9 fge ar =1 o
3 SRy gofam et ssriee T faftarta Fem TR faEm |
O  BlueLine: mﬁwﬁmwwﬁﬁﬁmzmmm
O  Green Line: mﬂ%wmmﬁm%m%mmaxﬁrmmmtmwm
Gﬁ:«iﬂémtmﬁq@aﬁml
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X

Ac 28 as‘rmavﬁmnswer Key

L |®®OD |26 [A®OD|5L [®®OD® |7 |®®O® |-
2 |®@®O® | 2. [®®O®| 52 |®@®O®| 7. |®@®O®
3. (@B®OD |28 (AB®OD| 53. | @®OD®|73. | ®®OD®
4. |[O®OD® |29 [A®OD| 54 | A®OD |7 |®®O®
5 |@®OD |30 [(A®OD®| 55 | A®OD| 8. | ®@®O0O®
6 |[BB®OD |31 [(A®OD| 5 | AE®OD|8. | ®®O®
7. |[@®O® |32 (AB®OD| 57 | A®OD®|%2 |®®O®
8. | ®®O® |33 |®®OD®| 58 | ®®OD®|8. | @®O0D®
% |®®OD | # |O®OD®| % |A@®OD|# | A®O®
10. @B®OD |35 |O®OD®| 60. | A®OD®| 8 | A®O®
1. [A®OD |36 [(A®OD®| 6. | ®®OO | % |(A®O®
2. | ®®O00 |3 [®O00| 62 |®e00| 8 [@e®0®
3. |H®OD |38 |O®OD| 6. | ®®OD |38 |[A®OD
4 (OO |39 |O®OD| 6«4 | OB®OD|%. (A®O®
15 |®®O0 | 40. |B®OD| 6. [A®OD| % | A®O®
16. | ®®OO | 41. (@®CDO | 66. | ®B®OD | 9. [ A®OOD®
17. |®®O0 | 42. |O®OD| 67. [ ®®OD| 92 [®A®O®
8 1 ®®O0 |3 | OCOD| % |[®A®O®|% [A®O®
19. |(ABO0 |4 |[O®OD| ¢ [(APOD®|% |A®O®
20. | OO | 45 [A®OD® | 70. ®®OD®| % |A®O®
2. | ®®OD | 4. |[®®OO| 7. |®®OD| % [B®O®
2. |®®O0 | 4. | ®®ODO| 72. | ®®O®| 9. |®@®OD
2. |®®O0D | 4. |®®OCD|713. | ®®OD |58 |@®O®
2. | ®®OO® |4 (OO | 1 |®®O®|» |®@®O©®
5. | ®®OD® |50  ®®OD®]| 75 | ®®O®|100.| ®®O®
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: | ' u&ﬁhﬂt AC : Y (Set £9)

e g PR e e e e e v e e it I ot TR

a. g o A (ILO), ' 1. W95

b, T AN HfY WA (FAO) 2. WRRK

c. fova @R wigd (WHO) 3. WHIRYYL
a4, fova gems @9 (UPU 4. TAIRYS
*® a b ¢ @&

P SR 1 4

B. 2 .3 -4 1

c - 23 1. 4

D. SRR S S

e e Ter T ad ST SR TR

ol ' el

a. FrEmReE 1. SR

b. WEEA 2. HEHERT

c. TRF 9M gaTes 3. W TR
4 e A 4. T=TAESE
@®a b ¢ d

g WS B B e

B A 4i 5. 8

C. 1. 4 3 gl

D."3 4. &M

S PR - |

fiie (B . TR

a.  WAMTES fame! fuan. 1. AR RS

b.  Law of Multiple Propetion 2, Sufwfafest

C. Prince of-Experiment . 3. Hode FEREA

d. Theory of Relativity : 4. SAEEA
H1E a b g i

A. 2 1 4 3

B. 2 & . 3

C 4 2 1 3

D. 2 4 3 1
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mmw@mmmmm|

ZRYQ :KCJB :: PWOV : ? - ~

A. - GBHA B. ISIT 'c ELDK D. EOFP
@m@ﬁmmmmm?

Which one will replace the question mark ?

A. 75 i;. 26 : 25 D. 20
mmw@mﬁﬁﬁmﬂzmn :

Which one will replace the question mark ? s

7| 9 | 21| 27

4 2 36 18

o | a4 |54 ]2

A 18 B. 24 C. 36 D. 58
T g N oot B, 3 T el Rt waeerd weRs 2 : .

Which of the following diagrams indicates the best relation between Boys, Girls and
Students ?

@O B. @ | C.. D. Cﬁ)

AT o T T ST T e T
Select a suitable figure from the Answer Figures that would replace the question mark (?).
Problem Figures: S . Answer Figures:

@*'A\O( o | 1€ _JO |C_ €.




-10.
11.

12.

13.

14.

Count the number of parallelogram in the given figure.

A. 8 ;N (R C. 412 ' Sritic: > o 1.
Optical Fibre AT S ? ' ;

A. i@ 5eT B. mgmm C. TEERIGHAYN D. Wi g
At fossa T e et ey wieer e i 2

A fad.qEvy B. fad.qavy. c. fad.9sve  D. fad.9ER

A T ST T aerh! W R e

1. e T SieiemTeie T 14 TS 71 S T HEE e o |
2. AT T sfieiepra T R0 e 3 @ e Sl wew o
3. FUTeTeRT TST AR T 4R Y AT sfiefentsht wHo e o)

4. WWWMWmﬁuammfwu

T W W B/ 2

A 1,2T3EE B. 2,3T4TH C. 1,374TH D. 1,2,374%%
ﬁwﬁmmmﬁmm ‘

| g U HeEtad mmﬁ@raﬁ

1. 39+ —> EIR%L

2. FHAmeE WEE  —  T9RE0

3. W N — T R000

4, FAH A — T 3005

ity et Sires 1e 5 e wd Ve 2 , :

A 133 B. 134 X C. 234 D. 233
TER=! SR 74 Sl 31 g1 2

A, WWEIRE  B. S C. 9 9R—Eq D. SF e

Question No (- 15- 19) based on the following passage:
- Many sociologists have argued that there is functional relationship between education and economic

system. They point to the fact that mass formal education began in industrial society. They note that the
~ expansion of the economies of industrial societies is accompanied by a corresponding-expansion of their
educational systems. they explain this correspondance in terms of the needs of industry for skilled and
trained manpower, needs which ‘are met by the educational system. Thus, the provision of mass
elementary education in Britain in 1870 can be seen as a response to the needs of industry for a literate
and numerate workforce at a time when industrial processes were becoming more complex and the
demand for technical skills was steadily growing. - :

v

409



. The author argues that

410

. - The industry needs a literate work-force because : S
A. its expansion needs sound learning ‘

B. it relies heavily on expertise.

C. it promotes-a competitive spirit .

D. its operations need intricate technical knowledge

A. formal education can be traced to industrial socxety o

B. .industrial society is responsible for expansion of education at mass level .
C. industrial society gave rise to vocational education

D. industrial society changed the pattern of education

The observation of the Sociologists are based on a study of

A. the statistical data available in a historical context

B. economic system of the 19th ccntury . :

C. the correlation between industry and education in-a hlstonca] context

D. growth of industry 19th century

The Sociologists referred to it in the passage say that the relatxonshlp between industry and
elementary education was one

‘A. based on mutual need s

B. based entirely on the need of the industry .
C. based entirely on economic need

D. based on some inexplicable historical forces .
By 'functional relationship’ is meant ;
A. ashort-term relationship h-B. practic,al and utilitarian relationship
64 temporary arrangement D. close and unbreakable relationship
1. @S m EIELED] aTﬁT T ES | :

A 1T 27e@ B, 2§ 17@@  C. T ' D. T¥Tem
e 13 11 & o fresge 2 : R R
’Carn'ivore ; A =i T WESee

1
Herbivore ; 2. HIGRR TUSeT ;
Gramivore _ © 3. HEEm I W CECIT] ‘T{I‘Tﬁ%‘&

’ 4, renre < faal wm wg;qaé\’aa

Omnivore

)

NV e
—_ AW W R

-co_w>%.a.o o P
NN N W

W N



22.

23.

25.

26.

27.

“A. 1and2 only - B.

411

Demand Export Y@ S 8 ?- _

A, TR weEmE i 1R R g8 sl T e

B. . ymEnyA freret T ey et T e

C. T fadelt ga1 a7k g R fafirm Frraprareé arg T Qe ooy 71 ol ;
D. fremigers Serer =t ggferaa fad a1 ‘
AR TEY o WIS 93 S 2

A. AT TIE R STl UE R

B. m@wmmmmﬁmwma.

C. 99/ WTO %1% 3 ag

D. fava g feag 97 L w1 oS |

L fad. j095 Srem forve s @iet R Yo ftor Re fot |

2. TR S R S |

3. TR S TEY T g e R g v faaeE wfes )

T Seeifaa H S T e 2 /) : .
A 17298  B. 133WH C. 39 D. 1,233 83
TR g s e 2
Choose the figure which is different from the rest.

m @ & @ 6
A 1 B 2 C. 3 D. 4

! Fear e St i e R X, Y, Z FERT! WA T X i e 571 e g 2

Three different positions X,'Y and Z of a dice are shown in the figures given below. Which
number lies at the bottom face in posmon X?

9

C Cannot be determined .D. 6

ot X = ez aa ot SR -5 T e WS 2

similar to the box formed from the given sheet of paper (X).

Choose the box that is

9 8

7

(x) (1) (2) (3) (4)

1,2and4only - C. 1and4only B, - 1°%and 3 anlv



28.

29.

30.

31.

32.

‘ 412
ﬁm@ﬁmqmﬁimw@mmmﬁa@m:

WEI wWEI

1. 9SG, - a  HEHY HERTE SEfary
2. WmR ' ; b. W fiE wRINOTed
3. HWFI90 . c. qumﬁm, '
4. WY d. - =IUIeE X
FE 1
A
B
e
D

(=9 EN (eI o

oo DN
0o 0 QA o lw
IS I = Fe g < P B

Ao S SR AR 0 S o /B2

A, Tyfa e &R e afteE, arahﬂmw@vgammﬂﬁ
B. dfayM TSI e T i

C. TFTA weeh o 3tferd de g

D. Hifoe @

WMWWWWW

L HE RS U Wee- mmmmmmmmma.
I 2 EESIR ST T8 5 | [

- T TS S FRYh! T 6 g a1 B |

A, 1 IIEE I 7 : B. I, II, 9@ III Teid
C. LI, D. 111, I §s T
.ﬁﬁwma@mmﬁﬁgwmzﬁﬁﬁﬁﬁmmﬁm
el R

a. - HAfecen! feafa Tt s 1. THI’YE

b. TN ST e 2. FI’'N

c. THfecen A e arm Teer C3. TWIR4E

d. Tfgcmen Ariissa graet Aera-H 4. TAIRYe
F}E a b ¢ d

A1 -2 34

" 2 3= 1% 1

SO 1 4 -3

D.:-:3 4.7 2 1

From the given alternatxves, choose the one which- best expresses the- glven sentence in
Indirect speech. :

""Please don't go away'', she said. ; .
A. She said to please her and not go away. B. She told me to go away.
C. She begged me not to go away. D. She begged that I not go away.



33.

35.

37

38. .

39.

413

" Choose the alternative which best expresses the meaning of idiom

He is leaving the country for a good.

A. for better prospects - B. fora good cause

C. forever | 'D. for others good

Pick out the best one which can complete incomplete stem correctly and meaningfulily It was

_ an extremely pleasant surprise for the hutment-dweller when the Government officials told

him that ...... : )

A. he had to vacate hutment which he had been unauthorisedly occupying

B. " he had been gifted with a furnished apartment in a multi-storeyed building

C. he would be arrested for wrongfully encroaching on the pavement outside his dwelling
D. they would not accede to his request

qreTER! T Afeat i T TS TS R g ? _
A. VA Hed B. fafswfdgwew C. WM ¥ed D. aeHHAHE Ie
Fa T 1 R TR T SRl T SIS SReet ST R R 2

A weafdsem B, wEAfde - €. abmEfdg p. 3fwfde

et TfuE, 09R F AR SR TEEEeH aeEH! e Be 2
A =fGTE B. YREETERi C. VSR AEIEA D, SHeREt A
g 1 LI o v e - ;

wRIskE . T 11 TIead 9T TReh!
a.  YERUS ST 1. fawa f

b. SR HIEET : 2. g

c. TS 98 3. 3T e

d. TRIE< C 4 W e

#}€ a b ¢ d

AR 1 3 4

B.o: 1 2 3 4 b
C. 2 3 4 1 ’
D. 4 3 2 1

=0 A
i 2 3 E
4 5 5
F ta o .
A 157:24,6:39.8 N, B. 1,5,7:;2,4.8:;3,6,9

C. - .147:2585369 _ D. 1,7,9:3.58;246



40.

4.

42

43.

414

ot X = g ghieeae 93,3 A1 Y ) & o oS W TR - ;
Find out which of the figures 1), (2), (3) and (4) can be formed from the pieces given in

figure (X).

| MR 1) @ 3 (@
A 1 R <2 . . C 3 D. 4
o fascqeens) g Femre Aferaed e 2

Select a suitable figure from the four alternatives that- would complete the figure matrix.
42 ki

EAEIARINS
‘ : (1) (2) 3) (&)

A1 B. 2 C. 3 .. D. 4
Tegum farearensdeme fasr X+t T 3Raw gl o wsgey

Choose the correct mirror image of the given figure (X) from amongst the four alternatives.

O 'V e ; é O O
X ) 4 xX
L7 P P P
(X) (€Y 2 3) 4

A 1 y. 2 C. 3 D. 4

Sirer e FreaR 98 ST SvRY,

- Wl TR Il

a. Hfgme 1. foaa=

b. IR T A J2 EmE@

€ ‘E@ﬂ 3. @

d. o9 e A Y 4. e

#®E a b ¢ d

A 4. 2. 3 1

B. 4 2 1 3 .

C.. 4. 3 :2 1

D. |1 2 3 4
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46.

47.

48.

49.

50,

415

S ST el g T 2 _
A gFER B. WHIE C. © D. =&
iR < feet e et shren fremegerl |
el el

1. YeeeIgR el a. TomfenTe Sl
2. SUEFS b. TS

3. I 2 c. TSI EHE
4, o SR d. wm

L TR R

A a b ¢ d

B. a b -d c

C. a d b. c

D. d c' a b

TRt TR T R St s g -

1. e a. foaREa

2. foer Rdfor b, ST A=
3. s Rrmt T TR IS

4. dfg fermfor - d. I90s vl

¥® 1. 2 3 -4 .

A. a b c - d

B. a b d c =

c. a d ¢ b
D. a c b

mmmwﬁm&mzmaﬁamﬁm st ot 2
A 09 AYWIIR ~ B. RojeAFERII  C. R0q¢ A=Y D. 309 YR K

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete.

The park ...... as far as the river. .

A. extends B. .advances C. - enlarges D. emerges

Many of the advances of civilisation have been conceived by young people just on the ...... of
adulthood

A. boundary B. threshold C. peak D. horizon

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete. .

Arti pulled a long ...... when she was told that she could not go to Agra.
A. mouth B. skirt - C. face ' - D. hand



51.

52.

53.

54.

55.
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mmm‘mmmmﬁamm? ;

A [YEIFARBSY B, R HH, 3¢ C. AW, R08Y D, ¥ THA, 0¥
Torar g :

AN %wmmﬁmxfsﬁmmmmz

am gﬁﬁw@mmwwwmﬁmwmﬂﬁwmmmﬁaﬁma@
s |

A () w&, M Ed B.. (o) T, (M) TR
C. (30), Tera (31m) & : D. (30§, (m)nf—vra' .
oot fguat g Femrel wemn Regwe Srofer gu s 2

Select a figure from amongst the Answer Figures which will continue the same series as

- established by the five Problem Figures.

Problem Figures: Answer Fi igures;

+. + =+HA-+HA-+ ~A+A-+] OA

- O}- 0O (o) ol Ol i0 OG0 2

ADSADSIADS® O® @ @ O 80 +{® L 20
A B © @O ® 1) ..@. .03 @ 0O

A B. 2 Cat =351 D. 4

ot X 1 ariren e i qeren forsreuseae ovgeiy :

Cheose the correct water i 1mage of the given figure (X) fronr amongst the four alternatives.

B & T

A - i+
=0

-4
Ol O

G

(x) (1) (2) (3) %
O 2 : ,/c gk DY .4
mﬁaﬁaﬁmm: ) ‘
a.  TITATHICS TH g9 TR 1. USTER gaeieht T s faset
b, R 2. - 3foere Rmftn srgom s
c. WRH 3. WAWTEY
d. ARETRE 4. wIEHd w1
wEAN W e d
Al agd 1 3 2
N ! 2 3. 4
gy 4 .1 2 3
D. 4 3 1
T g TomTTEee! A4 fE T & ,
#) fagre gemnt LS am  Frgam o
3)  arf e %) U aomEn

Wﬁmﬂmmaﬁaﬁmm@wg?

A ATT_aT_=_ = P AT AT = = o) & arp e = ™ O ar e awr



A17

57, e AR T TSR

I CEERI
a. N Focardn fagm sifew e 1. gEE
b. Temmed St v foeen 2. har
¢GRI HH T 94 e 3. foeyeh
4. O SR e Y AT geeh feee 4. A
B} a b ¢ 4
A N
B ¥ Wl 1 "V
oo o302 1 2
b i < ik et S

58. g YE fER TN
1. e Gas gai farg areige foeam 98 |
2. AT g ufveH fag SeamgiEl SR US|
3. TR AR I faeg g TeE WSS B
4. AuTeTh! SN it farg shrareh! Serad 71 1

iy SeifEm |1 YR 5% wre 2 :
A 1,2 3EEERA B, _L,3W4WHEE
C. 1,4,3°959d B ~1,2,3;41ﬁn€1

g far T AT Sree TR e R Weee! S Rge

Study the following pie-chart and the table and answer the questions based on them.
- 9%R ) Fafi T TR S TR Proportion of Population of Seven Villages in 1997.

R

TR Village TR Y R SHEE TR % p;,p"l;}gtiqn Below Poverty Line
5 ¢ 52
Z 42
R 51
S 49 -
i 46
v 59




59.

60.

61.

62.-.

63.

65.

66.

. 418
TR IR F R TTREH TR 33000 T WA Y TP TRer! T G SHaS@SN s de 2
If the population of village R in 1997 is 32000, then what will be the population of village Y
below poverty line in that year? -
A. 14100 B. 15600 C. 16500 D. 17000
R N T S T Z T RETeh! T Wbl S 96 Hi S 2

The ratio of population of village T below poverty line to that of village Z below poverty line
in 1997 is:

A, 11:23 ~ B. 13:11 C. 2311 - D. 11:13

IR X TR 9% mmmmﬁﬁﬁmmio 'wﬁ@raﬁaﬁt S TR S H
e ?

Find the population of vﬂlage S if the populatlon of village X below poverty hne in 1997 is
12160.

A. 18500 B. 20500 C. 22000 D. 26000

M 19R% T Y TV TR SRS 0/ 90 TR ghg v W 94 e i Yemh
S FRTaH G IREE AT TV IR 1R%5 F D @G R SHEEen i aen
! Y TSB! 933 T SERIEEAT 30000 Tl 2

If in 1998, the population of villages Y and V increase by 10% each and the percentage of '

population below poverty line remains unchanged for all the villages, then find the
population of village V below poverty line in 1998, given that the population of village Y in

11997 was 30000. _
‘A, 11250 B. 12760 C. 13140 D. 13780

e (o U S Rl g1 e S ? 6, 13, 25, 51,101, 2

AL 201 B. 202 C. 203 : D. 205

R AT A T WA UY, %0 T ¥y Taensige sl &iw o, xxuoaqﬁaafaamm
Fie i BT ?

If the average marks of three batches of 55, 60 and 45 students respectively is 50, 55, 60, then
the average marks of all the students is: :

A. 5333 ‘ B. 5468 Al 55 D. None of these
g T A S TS ? e ' '

A. Frer fee Afeen Tsigd o - fRwdww

B. aﬁmmaymmaéﬁuh - . 3083 SR K

B mmmaghémmﬁ - TR fayg

D. aﬁmmﬁﬁﬁafaﬂ - f54. 3090 Hfaw ¥

Tegu YRS e =R THe :

) gmmmm,wzmmmmw
&) 9u¥ fava oA ERT Axis Power 3707 fard |
3) Hmﬁwag‘:qﬁmﬁwﬁneague of Nations ! TT9A1 T 9]0 ST 90 AT YT fordh |

A. (30 T(3m) T4 TToTd, el B. (3)T(3m ¥, (3) e
C. @NI(3) T, () Tom D. - | &



6.

68.

69.

70_.’

7.

‘7.

74.

75..

419

e TS IEEE e e P i A w TR

i e ' i
) TR -, ’ : . e s faf

) A e | R e e

3 =Wgfaar - : 3. ey iy

%) TEAe Y. var fayg

A, WIM RN B. 3R, IM, N, H

C. 3R, R H Sig D. ¥R, N, N

TR I TR A TR v vearrss T oinseseeserss SHRTHY A G| >
A, FERT gl B. TERIUR C. I D. &NIRE
AT WL AR Ger e g el e B 2 ; R
A URIYS - TR

~ B "mIR®e - - ufgs el S aun faw smEm

COMUIRE - s S e

D. WWIR - m\mmmmmzm
_ Brothers must llvemharmony They must never fall ...... - '

Aol . B. out C. apart D. away

In the following questions four alternatives are given for the idiom italicised and underlined "

~ . in the sentence. Choose the alternative which best expresses the meaning of idiom.

In the armed forces, it is considered a great privilege to die in harness.

A die on a horse back ; " B. die in the battlefield
C. - die while still workmg : . - D.~die with honour
Choose thie word which is the exact OPPOSITE of the word CONCEDE.

A. Ol‘iect' B. Refuse - .C. -Grant - D. Accede

K famaaw@am@ﬁ S e
- B.. favam wav= g@ o -

- fERwR@ TR TE . > gifmas
D, fovam T g oo &4 : iy

- IR A SIS 9 S/ B ¢ P

Y 9
TR fes

5-C. d AR

© A a,b,dWH B. ab,cHH ; & ¢, d 9
TR IR
A IR B. dUws c. =m _ D. zaﬁmvg

095 e UIE UG UIH SN SHEA O SUREEO S B UN WOMAN
mmmmmmm-mmm@mw
F. WG S\ dERY T n‘fiffﬂm :

A wi® B. @Im C. w3 D. =i wd



76.

71.

78.

79,

80.
81.

82

83.

84.

- 85.
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mvmw:rwmmqhm:m;ﬂmmmmﬁmﬁ—ﬁﬁ?

A. IOM, ¥7%d, ge B. Ya%d, 3O, TS
C. e, vigd, @ : D. uT%d, e, 3T9H

Ffg 004 A & T WRTER 4 s J00¥ AR § TR IR Bl 2

If 6™ Mérch, 2005 is Monday, what was the day of the week on 6™ March, 20042

A. Sunday B. Saturday C. Tuesday D. Wednesday

TS WA T & S T Y 6l U 9 SRS IS TR Wi X)) S eea g
T i T WIS ?

A wheel that has 6 cogs is meshed with a larger wheel of 14 cogs. When the smaller wheel has
made 21 revolutions, then the number of revolutions mad by the larger wheel is:

y ey | B. 9 C.::12 D. 49
T T wfew g =i w2 o faia o s e 2 ;
How many times are the hands of a clock at right angle in a day?

A 22 B. 24 C. 44 D. 48
Hrehfirr STaar U, 093 T TRE! TUNT SHEARIH! THORT eFH! T 9o ?

A. Sifegd sEm B. d9mes3Igm ~ C. feamges @M D. ﬁqugmszhn
YR FITS FREFD! TSR0 F HSTHaE TR & ?

A. e fashr B. @RS c. ¥mfen - D. fa=em
TG S SR dfeeieRa feecient s fremsgeg | '

A. e A9, A9 g HER SR, TREs, J9re fefisE

B. TiR@Egs, ed A9, A9 T HER e, e At

C. U § HIAR Heyw, ea Jure, i@, Jure fafism

D. mmgwwmmmiﬁrrw

e SR Wit AT T TS A eI 2

3) Most Favored Nation Treatment 3T National Treatmént
%) . Market Access _ %) Predictability and Transparency
A, FJIMIE - B. #,31% C. 3amnig D. T

In the following guestions choose the word whlch is the exact SIMILAR of the given words.
STRINGENT .

A. Dry B. Strained .  C. Rigqggng < P, Shill-
One who eats everything is called ...........cc..p..: :
~A.  Omnivorous B. Omniscient C: Irrestlb}e D. Insolvent

In questlons given below out of four alternatlves, choose the one which can be substituted for
the given sentence.

Malafide case iS OD€.......evveeenn.. A / ‘ ‘
A. Which is undertaken in a good faith B. Which is undertaken in a bad faith
C. Which is-undertaken after along delay - D. Which is not undertaken at all



87.

89.

91.

92.

93.

94.

95.

96.
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- 0, T UM YT T Ffirt FreT R T A freEaR TR TR -

&, UoHiae dEias fau . . . - oadiveR U e

. 3foew fam o - R TRT

. aifec, Segfa T fagm faw - fawpwvm ‘

A wmiEfw B. @winfew: C. ®Infssd D. wafew
R R R 2 T

A. TEEeS TH e e B. wrzar famior et favad am segs
C. FrgX “afas wfafy - D. yfafy seawao gt genfa

T SR Q000 FFAR fat © uS Pt IR & Wi A T E WP 45 W AT TR
Tafte e St v Wit E §9 A B aREr 95 Wl e g T R e B 2

A merchant has 1000 kg of sugar, part of which he sells at 8% profit and the rest at 18%
profit. He gains 14% on the whole. The quantity sold at 18% profit is:

A. 400kg B. 560kg C. 600kg - D. 640kg
a&mmmmqawt@g@m@mmmmmmm ,
13 ® W F TERT! AT S A ?

. The sum of the squares of three numbers is 138, whlle the sum of their products taken two at

a time is 131. Their sum is: :

A. 20 B. 30 . - .C. 40 D. None of thesse
T3 T SAH! TGS T WA 3% I FAS HAIATRT | mﬁ@rtma‘m’t
AT S OAEE (VY S Y I G i Sl 2

In a two-digit, if it is known that its unit's digit exceeds its ten's digit by 2 and that the
product of the given number and the sum of its digits is equal to 144, thén the number is:

A 24 B. 26 C. 42 " D. 46

iﬁﬁﬁtmﬁqﬁaﬁﬁﬁmwaﬁmﬁwmﬁ ?

The difference between a positive proper fraction and its reciprocal is 9/20. The fraction is:

-3 3 : 4 4
A 3 B. 10 C. 5 D. 3
What wﬂl be remainder when (67‘7 + 67) is divided by 68 ?
At 63 C:. =66 - B D. 67
T VAT 1 SR it 2

, wmmﬁawmmmmmwmm&ammm&am

A g  B. v e C. wR& D. foEwm=

e S e g T R Ae 98 TR A TR e B SeArd R @ 2

A.  09Y FTR93 B. 08Y FRET40 C. ROOLFEAIR - D. 004 FRA9G

The custom or practice of having more than one husband at same time is called ...........

A.  Polygyny ~ B. Polyphony - C. Polyandry D. Polychromy
Pick up the one which is most nearly the same in meaning as the word printer in bold and

\

‘can replaces it without altering the meaning of the sentence.

The bullet wound proved to be Jfatal and the soldier died immediately.
A. grievous B. dangerous C. serious X D. deadly
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98. In the following questions choose the word which is the exact OPPOSITE of the given words.
- VIRTUOUS : ‘ :
A.  Wicked B. Corrupt - C. Vicions -~  D. Scandalous
99. A TEEAAE L A YT TE] 3 AT LD A I WSB! T L X W Bt I @l 2

On dividing a number by 5, we get 3 as remainder. What will the remainder when the square
of the this number is divided by 5 ?

A 0 B. 1 C 2 S

100. 33 ¥ q00 W & A Frdw maﬁmﬁmmmma ?
How many natural numbers are there between 23 and 100 which are exactly divisible by 6 ? L
A 8 . Biawsw C=212: ¢ D. 13

Q.No: |{Answer |Explanation

Key
1 B l2p |3B
4 C. As 78 4 r—*Ty v B 4q
k=3 c—Ly 1 QB
Similarly - P -tLy WS BT 3y
7, By p 7 4y
5 B. | (@+@)1’=20

and (3)*+(9)° =90

Therefore (1)” + (5)° = 26.

6 B. (7x3)=21and (9x3)=27

and (4 x9) =36 and. (2 x9) = 18
Therefore (9 x 6) = 54 and (4 x 6) = 24.

7 D X - Boys
b Students
Girls

8.7 B, Each one of the upper elements is repl&ced by an element similar to the lower|
element(s) and each one of the lower elements is replaced by an element similar to
| the upper element(s).

9 D. The figure may be labelled as shown.
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-Thc snmplest parallc‘oorams are LMHJ and BDFM ie. 2 in number The

parallelograms composed of two components each are ABML and MFGH i.e. 2 in
number.

The parallelograms composed of three components each are LBHI, LBEF, BDGH,
DFLA, BCFH, KLFH, A6HJ and LFGJ i.e. 8 in number.

The parallelograms composed of six"components each are LCFI, KBEH and ADGJ
i.e. 3 in number. K

Total number of parallelograms in the figure=2 ¥2+8+3=15.

11.D 12.D 138 [14A |15.D |16.A |17.D 18.D 19.B

10 C

20. G 21.B 22.C 23.C 24.D

25 D. Except fig. (4), in all other figures, one of the two arrows points towards the centre

: - of the circle. \

26 B. From positions X and Y we conclude that 1, 5, 6 and 3 li¢ adjacent to 4. Therefore,
2 must lie opposite 4. From positions Y and Z we conclude that 4, 3, 2 and 5 lie
adjacent to 6. Therefore, 1 must lie .opposite 6. Thus, 2 lies opposite 4, 1 lies
opposite 6 and consequently 5 lies opposite 3.

As analysed above the number on the face opposite 5 is 3. In position X, since 5
lies on the top, therefore 3 must lie at the bottom face.

27 B. So, when the sheet shown in fig. (X) is folded to form a cube then the shaded face
lies opposite to one of the blank faces, the face bearing a circle lies oppos1te to
another blank face and the face bearing a.shaded square lies opposite to the third
blank face. Thus, each one of the cubes shown in figures (1), (2) and (4) can be
formed. Also, though the cube shown in fig. (3) has faces that can appear adjacent
to each other but the cube formed by folding the sheet in fig. (X) cannot be rotated

‘I to form fig. (3). Hence, the cube in fig.(3) cannot be formed.

28 A 29.D 30.B . |3L.LA |32.C |33.C 34.B 35B |36.B 37.D

8. |A ‘ J '

39‘ B. 1,5, 7 have two similar elements, one inside the other.

2, 4, 8 have one element placed inside a different element.
3, 6, 9 have two similar elements, one inside the other and the area between the two
b elements is shaded. '

40 B

43 | There are 3 types of faces, 3 types of hands and 3 types of legs. Each type is used
once in each row! So, the. features not used in the first two figures of the third row
would together form the missing figure. -

42 g NIC. ar e fast s 9t 91 .

43 A 144D [45.A [46.A 47B |48A |49B |50.C |51.A {52'.D- 53.C

54. D. \ ' '

557 fC 56.A° |57.C° |58D
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59

Population of village R = 32000 (g 1ven)
Let the population of village Y.be y.

(5x32000

Then, 16 : 15=32000: y =>y;— 6 ):30000.

.. Population of village Y below poverty line = 52% of 30000 = 1_5660. .

Let N be the total population of all the seven villages.
Then, population of village T below poverty line = 46% of (21 % of N)
and Populanon of villages Z below the poverty line = 42% of (11% of N)

. Reauired ratio  46% 0f Q1% of N) _46x21 23
= IEARITCA TRI1O = 42% of (11 % of N) =42 x 11~ 11

61

Let the population of village X be x. - *

12160 x 100

Then, 38% of x=12160 = x=—38——= 32000.

Now, if s be the population of village. S, then

16:11=32000: s =>s=(ﬂ—x£299 = 22000.

62

Population of village Y in 1997 = 30000 (given).
Let the population of village V in 1997 be v.

Then, 15 : 10 =30000: v = v=-"'———0°°1(]5"“’= 20000.

.| Now, population of village V in 1998 = 20000 + (10% of 20000) = 22000.

.. Population of village V below poverty line in 1998 = 58% of 22000 = 12760.

63

The patternisx2+1,x2-1,x2+1,x2-1,..... :
So, missing term = 101 x 2 + 1 = 203. 8

) i (55x50+60x55+45x60)
Required average = 55 + 60 + 45

B (2750 + 3300 + 2-700)
i 160

_ 8750
=160

=54.68

65

66.D {67.A 6‘8.B‘ 69.C |70.B |71.C |72.B |73.D |74.C 75D

76.

-

The year 2004 is a leap year. So, it has 2 odd days.

But, Feb 2004 not included because we are calculatmo from March 2004 to March
2005. So it has 1 odd day only.




425

*. The day on 6‘h March, 2005 will be 1 day beyond the day on 6™ March, 2004.
leen that, 6™ March, 2005 is Monday
. 6® March, 2004 is Sunday (1 day before to 6" March, 2005).

78 ‘Let the required number of revolutions made by larger wheel be x.
Then, More cogs, Less revolutions (Indirect Proportion)
~14:6:21:x & 14xx=6x21
H % 6x21
14 .
=>x=9
79 1In 12 hours, they are at right angles 22 times.
‘ In 24 hours, they are at right angles 44 nmes
80 - 81.A 82.B |83.D 84.C [85.A [86B [87.D [88.B
89 By the rule of alligation, we have: - 7
Profit on 1% panProﬁf on 2™ part
8% Mean - S 18%
Profit
4 14% 6
Ration of 1" and 2™ parts =4 :6=2: 3
- 3
. Quantity of 2™ kind = (g x 1000) kg=600kg
90 Let the numbers be a, b and c. v :
Then, @’ + b* + ¢’ = 138 and (ab + bc + ca) = 131.
(a+b+cY=a’+b*+ ¢ +2(ab+bc+ca)- 138 +2 x 131 400.
= {a + b + c) =400 = 20.
91 Let the ten»'s digit be x.

Then, unit's digit = x + 2,

Number = 10x + (x + 2) = 11x + 2.

Sumofdigits=x+(x+2)=2x+2. -

S (1lx+2)2x +2) = 144 o

= 22x% +26x- 140 =0 . ‘ -
=11+ 13x-70=0 ' '

A= @-2)(11x+35)=0

=>x=2.
Hence, required number = 11x + 2 = 24.
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92

Let the required fraction be x. Then %— X %
R ot S

x 20 ,
. 20-20x"=9x
20x" +9x-20=0
20x% +25x- 16x-20=0
5x(4x +5)-4(4x+5)=0
(4x+5)(5x-4)=0"
4

5

G U U

>

93

(" + 1) will be divisible by (x + 1) only when 7 is odd.
2 (67% +'1) will be divisible by (67 + 1)

194

. (67 + 1) + 66, when divided by 68 will give 66 as remainder.
95.B  |96.C [97.D |98.A ; -

99

Let the number be’x and on dividing x by 5, we get k as quotient and 3 as remainder.

x=5k+3

= ¥=(k+3) 4
= (25k* + 30k +9)

=5(5K*+6k+ 1)+ 4

..On dividing x by 5, we get 4 as remainder.

100

: Required numbers are 24, 30, 36, 42, ..., 96

This is an A.P. inwhicha=24,d=6and [ =96

Let the number of terms in it be n.

Thent, =96 = a+ (n-1)d=96

=24+(n-1)x6=96

=>n-1)x6=72

=>@n-1)=12 e
=>n=13 § o

Required number of numbers = 13.
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Jc 29 1 FARTD! citiol Answer Key

1. [O®O0 |26 |[A@®OD|5L | @®OD |7 | OB®OD®
2 |ARO® |2. | ®®OD |52 |®®O0D|77. ®@®O®
3. 0200 |25 |[A®OCO| 3 [@®OO| B [®®OO
4 [(O®OD |2 |®OOD| 4 |®®OD | | ®@®OO
5. A®OO |30 |@®OD| 55 |@®OD| s | ®®OO®
6 |O®O0 |3 |[A®OD| 56 | O®OD| 8. | ®®O®
7. @O0 |2 |08 | 7 A®O0O0| %2 | B0
8 |@®0D |3B |OGON| 8 | ®®O0| 8. ®®O0 |
9. [ AE®OD | |ABOCH|* | AB®OCDO|# 1OB®O® |
10. BAOO |3 |O®OCD| 6 | AB®OO|8 A®OD
1. @O0 |36 (OEOD| 6 | O®OD| 3 | ®®OO
2. @00 | 7. {[®EOD| 2 1@®O0D|%. |®@®O0®
13 |O®O@ |38 | O®OD| 6. | ®O®OD| 8 [ A®OO®
4. |(®®OO0 | 3. |(B®O0 | ¢ OGO | 8. |®®OO®
15 @O0 |40. | O®OD® |65 | ®O®O®| % | A®OO
16. @®OO |1 |O®CD| 6 |AB®OO| 1. [(A®OD
17. |®®O0® | 2.  A®OD® | 67. B®OD®| %2 (AB®O®
3. [AE®O0 |43 @O0 | B |[A®C®| % |®@®O®
19. |®@O0 | 4. [O®OD |6 | O®OD|% A®OO
20. @®O® |45 [BO®OD| 0. A®OCO| % |®@®O®
21 [A@O® [ 4. |[®®O®| 7. |®®OD®| % |®®O®
2. |(A®OO |[47. | ®@®OO | 72.  @®OD|97. | ®®O®
2. |[®®OD |48 [A®OD| 713. | A®OD| 98 [AE®OO®
2. (OO | 9 |[@®OD |  |[AOOD|» [A®O®
%5 (OO | 5. |(@®O® | 5. [ ®®O® | 100.

[e@00
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iﬁa"t.m aur uIGefdl Ursel dod a1 IJa (Chemical~ Compouhds)

4. |7 : g
3. |Nicotine (Frahifea) Fleh! AT URA T, mmwmmw
' ' qFs |
. |Tannin or tannoid oo uzA o= .
R. |Caffein - FHA T T 7 | 21 T A TR e v B
Y. |Auxin FHHETH! Gl IR O | |12 favaees! ghe T faemm ggam v
v T | TR Tt RO YT g i whees |
%. | Theobremine (faraisifa) i faear o o
©. | U AehIEw T FAFAT | T TR T e e
5 [erew a e i et 1 e e Py e
2. |Chlorophyll ' aa‘mﬁm RIECH Bﬁﬁﬁﬂr (Green pigment) .
0. | Casein (f5) Wmmmdnwﬁmﬁ@m%ﬁ% i
2. Tfafes tfee : e, Hrie det Fret e
9. |Zein s ﬁmﬁmmhﬁammzf i
93. {Zymase | e et g TR @ YS! Enzyme
9¥. | Yoik znd albumin ST T T TR Yolk WFFS w1 A eiefend Albumin
. s | g Ak 9 difes o vF 91 :
A Xa-,zi-.;ay!.! (ﬁmhﬁm) .| ETEf AREeE T SR SnifeTge fome
9. | Toxin - ' | Shfer ot st T fare Tpor o el
3. | Thiamine fiafim =t wgen Sefres T .
i 95. | Tektin - S - | SARIEM 9’A Cytoskeletal WfeA
' 9., | Gliadin/Gluten/Glutenin |31, T, g snfs @ sl e ey e
0. |Hexose % T2 FHIEH] WHEE ! Waﬁ Taref
9. |Histamine STy T STt GrgeEHT e QﬁT'h TfHEE, Neurotansmitter
8 T Local immune responses AT eI T ?E?I?FTE?F Sfees It -
2. |Idopsin - e AT Iga ST Fpeet! ‘
R3. (Iris ST U & gIAR T T Ppeelt -
¥, |Keratin BT, waﬁmmﬁrﬁammﬁ
[ 24, Oestrogen and Progesterc;ne _ ;a;;qlﬁﬂ;ﬁ Sifam uA fasiy g6, Swem e T o
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8. | Pepsin/Peptin TeTens T Tean T Enzyme
5. |Ethylene A TG TESHE T, TR FGH T A T PR g T
TersnramT TearT g3 W3 wel YeisaH TRAr T |
2R. | Falcarinol/Falcarindiol TSI kel R Sfeat e fa fad ae
30. | Zingerone/Gingerol/Shogols _ﬁmﬁ{m»-@ (Ginger) g, ftiiaan 3 fave @ e | |
39." | Curcumin m‘mmmzqﬁ@ﬁWﬁmﬁml
3. |Luciferin or bioluminescence S (Firefly or lightning bﬁO) 1 g1 IS (Glowworms) 1
e mmm:gﬂ%ﬁmreﬂy)ﬁmmmwﬁ
Luciferin %1 FRU® I Tt T swmms |-
33. | Pharmalin (Hife) ﬁﬁmaw@nmwsﬁvnémwgﬁmwmzﬁ
’ T | ;
3¥. | Diclophenec (SIS ®) JYEES! FEE HH TH, TR TR TH TARET A= ity | 5
Iy M et gy TR G ERaeE g o firges
T T A1 3l wET I TR B |
3Y. | Taxol YU = RISl YT WIER Wiedeen (Taxus Wallichiania) T
| T TRAR &5 e Y T SishT T e et Taxol
Teofale TR A Taeg sivefi s whm nfes | _
3%. |Papain _ ﬁmmqﬁ%ﬁmmﬁmwmgﬁmml
39. | Carbide (#Ta15S) AU EHGH FARA ThEA TN TRE W, HEimed
i Eﬁassamtm@mgﬁtﬁtaaﬁaﬁamﬁmm?v
HUHE] | AT THRS | FEGS WEH! TE T G2, HeS T
HRESHAT TR TR TR |
35. | Ethanol (391 . | o1 SR T ShEE 3 Shfae T freife T 31 @R (Molases)
' 2 Toe 9s T A forak yoism ™ 3uRe s | saEe
| TeTeieE Yo werefan S wfaea (4R gferere) T fesier e
oo W W wfe )
3R. | Capsaicine |G R e e, e o s ﬁﬂqaaré Scovil
" | scale A1 AT |
¥o. |Cryogen Wmmzﬁwwﬁ W@ﬁqﬁmmaﬁ%
wH fagm w1
¥9. |Citric acid BT S FeTRer WEA AT O
| ¥3. | Sucrose _ 1 IRIH FRO 3G A1 FerGer e 96
¥3. |Folacin or Folic acid TS TR U Wi WA :
¥¥. | Lycopene’ THISH] 5 U YhRah! Ta9is W waraa
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¥y. |Histamine wpfaafen afe ffe Taeueesd! e E - TE FRiaEe! qﬁ:m
’ T, TEe) IR Ik 91 913 JAR 9 |
¥%. | Piperine ﬁwznﬁmq@mwﬁﬁmw{
¥o. | M e ST TE WA dveel AT, IEal SHE] STHAT
R ST (YR =, . 74, GEE g4 onfs) Feio s |
¥g. | ShIfEAm FRITAT AR ITehT ST - ,
¥Q. | et wEam e g TR, . U 9 T e difed frw )
yo. | Resin/Resins ﬁmﬁm%ﬁmmmmﬁqm
’ ToR e, TE ave uere Se e T S Huhid Wl 91s | IHaL
ey, TR, Tafay, Sfeaee T iR F= w&e T |
Fre] S faeTe WSH o973, mﬁmg@@awmw@t
¥q. |Latex mﬁmﬁﬁ%ﬁﬁa@ﬁ,ﬁmwﬁaﬁﬁmlm'
' @ (Hevea brasiliensis)mﬂ'@@ﬁ‘@lwﬁwm|
k‘i. Zooxanthin ESiSaall A 9 EuCau) (Yellow pigment), W TEA! TATRI
v Frreieor e |
{ ¥3. |Rennin mewﬁemmwm A Y FE QI SIS
| = T SRS | :
- 3. | Niacin frrfi ot Tggeh! S A9, TEH! STHEH Y& AT 1S |
Y¥. |Zoomelanin %ﬁmmzﬁmm mmmmmm
Bl
yY. | Melanin BIEH, IR HeT T TG HTe! T Feies 7 |
y%. | Noscapine/Narcotine/Nectodin | %@ Tagamr ursd sie@RA 0 | )
| "ve. | Quinine/Quinidine/Linchoine fR1EAT (Cinchona Plant) AT T2 S5R) TH T e
45. | Ptyaline (2T3fe) e firsie g <o faftrs o= ssee :
W], | wiE - oA F TEEER! SR HRUE e Ao FgE ES 1
0. |Acetylene gas/ Calcium ekl Y1+ JENT TR WA
| carbide/Ethylene A
%9. |Methene (®He CH,) TR, T T hRuE fewmirst mai fafna =
%R. | Sucros/Fructose/Glucose

TG ! for YIefeE swaes SfshamEn weire TR foa s |
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FRCY qaar
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